10.The number of ways in which an examiner can assign 30
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. If 8iz® + 122> — 18z + 27i = 0, then the value of |z| is—

(A)3/2 () 2/3 1 (D) 3/4

. Ifz=1+cos g +1i sing , then {sin (arg(z)} is equal to—
10-2v5 5—1
W= (B) =~
(D) None
. Ifx=111...1 (20 digits), y = 333...3 (10 digits) and z = 222...2
2
(10 digits), then Vs equal to—
(A)1 (B) 2 (C) 1/2 (D)3
. 7

. The sum to 50 terms of is— + 12+22 PEFCYIE]

(A) 50/17 (B) 100/17

(C) 150/17 (D) 200/17
. The solution set of is— X211 <0

|X—2|-2

(A)[0,1]U (3,4) (B)[0,1] U [3,4]
(C)[-1,1) U (3,4] (D) None of these
Cfa’+b’+c= 1, then ab + bc + ca lie in the interval—

(A) 11, 2] ®) [0,3]
©[-3.1] (D) [0, 1]
. The constant term in the expansion of is—(l +X+ %)6
(A)479  (B)517 (C) 569 (D) 581
. IfCr (10) then ¥1%, C,_,C, is equal to—
(@) ®() @)  oF)

. The number of positive integer solution (x, y, z) of the
equation xyz = 24 is—
(A) 18 (B) 20

(C) 24 (D) 30

marks to 8 questions giving not less than 2 marks to any

questions is—
(A) 108120 (B) 124320
(C) 116280 (D) 144240

10.

afE 8iz3 + 1222 - 182+ 271 =02, @ |z| &1 A9 28—

(A)3/2  (B)2/3 (€)1 (D) 3/4
gfg z = 1+ cos §+i5ingﬁa {sin(arg(z)} 919X 2—
(A) T2 (8) =1

4
(C) T (D) ®18 =&Y
gfg x = 111...1 (20 digits), y = 333...3 (10 digits)
qeI1 2 = 222...2 (10 digits) @9 22X wxrar -
(A) 1 (B) 2 (C)1/2 (D) 3
%+%+%+m?ﬁ 50 9gT TF BT JATTHA 8-
1 1442 1442443
(A) 50/17 (B) 100/17
(C) 150/17 (D) 200/17
:i:;: < 0®T 99zaT 8 B—
(A) [0, 1] v (3, 4) (B)[0, 1] L [3, 4]
(C) [-1,1)u (3, 4] (D)399 & HIE AL
af¥ a2 + b2 +c2 =199 ab + bc + ca f%¥ s=aua &

gf¥gea Twd 2-
w21 @ o]  ©@[-31] ©
(1 +X+)2—()6 $ yarR | frag ug 2

) [0, 1]

(A) 479  (B) 517 (C) 569 (D) 581
afg cr(lro)= g Y10, C,_,C, IR B—
@ () ® (%) © (%3) (o) (%)

AHHIOT xyz = 24 & YATHS YONHE BA (X, vy, 2) BT
JqAwgr 2—

(A) 18 (B) 20 (C) 24 (D) 30

8 yzal # 30 fpad adie @ 12 &1 9ad € afy
g Wl e 2 8% § HH A1 g -

(A) 108120 (B) 124320

(C) 116280 (D) 144240
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11.cosec 10° —+/3sec 10° is equal to—

(A)1 (B) Y (C) 2 (D)4
12. cos— + cos + cos + cos + cos— is equal to—
(A) 0 (B) 1 (C) 1/2 (D)-1/2
13.The ratio of the greatest value of 2 — cos x + sin’x to its least
value is—
(A)1/4 (B)9/4 (C)13/4 (D) 17/4

14.1n AABC, tan A+tan B+tan C=6, tan Btan C =2, then sin’ A
: sin2 B: sinZC is equal to—

8 8
(A 3 10 10 10 ®) 10° 10" 10
€ =2 (D) None of these
10 10" 10

15.The equation of the base of an equilateral triangle is x +y =
2 and the vertex is (2, —1). The area of triangle is—
(A) 2V3  (B)V3/6 (€) 1/v3 D) 2/V3
16.The orthocentre of the triangle formed by the points (0, 0),

(4, 0)and (3, 4) is—
o @ ((22) ©@(,3) () (3.%)

17.The image of the lines 2x—y =1 in the line x +y =0 is—
(A)x+2y=1 (Byx—2y=1
(C)x+2y=-1 (D)2x+y=1

18.For all real valus of “a” and “b” lines
(2a+b)x+(a+3b)y+(b—3a) =
concurrent, then m is equal to—
(A) -2 (B)-3
(C)-4 (D) -5

19.A circle passes through the points of intersection of the lines

Oandmx+2y+6=0are

Ax—y+1=0andx -2y + 3 =0 with the coordinate axes,
then A is—
(A) O (B)1
(C)2 (D) 1/2

20.From the origin chords are drawn to the circle (x — 1)% + y2 =
1. The equation of the locus of the mid-points of these

chords—
(A)x2+y2—x=0 (B)—xz—y2+x=0
(C) x2+y—x=0 (D) None of these

21.The parabola y2 = Ix
and 25[(x—3)* + (y+ 2)’] = (3x - 4y — 2)% are equal, if I is

equal to—
(A)1 (B) 2
(€3 (D)6

22.The centre of the circle passing through the point (0, 1) and
touching the curve y = x* at (2, 4) is—

w (22 w2
@

(D) None of these

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

cosec 10° — +/3sec 10° IX19% 2—

(A)1(B)1/2 (C) 2 (D) 4
cos%+ cosi—’lt+ cosi—’lt+ COS%T"' cosj—?aﬂﬂ'\f B

(A)0 (B) 1 (C) 1/2 (D) -1/2

2 —-cosx+ sin2 X PT HETIH AT dT ATUTd a EXSEal
FH AT 8-

(A) 1/4 (B) 9/4 (C) 13/4 (D) 17/4
AABCH tan A+tanB+tanC=6, tan Btan C =2

a9 sin2 A :sinZ B : sin2C 9%7a% ®—

9 5 8 9 7 8
A) 17357 16 T T

9 8 7 q
€5t (D) 399 & &Iz AL

T AT BT & ATENMR BT GHIBIOT x + y = 2 G2
sa®1 MW (2, -1) B, A1 BT *1 &3%A 81—
(A)2v3  (B)V3/6 ) 1/4/3 (D) 2/4/3
fa=gatt (0, 0), (4, 0) T2 (3, 4) 9@ fafHa s &1
AHED G BIA—
w@o @(G2) ©E3) o3
RET x+y=0F @ 2x —y = 1 &1 gfafarg gia-
(A) x+2y=1 (Byx =2y =1

(C) x+2y=-1 (D) 2x+y =1

a g1 b @ 9t grxafas 9191 @ fag =g

(2a +b)x +(a+3b)y+(b—3a)=07TT mx+2y+6
=0 9Hl 8, 99 m IRI9Y FIAT—

(A) -2 (B) -3 (C) -4 (D) -

TP g7 ITETRT Ax—y+1=07Nx-2y+3 =07
gfgesdl fa=g don 9 2® &1l & |q1el qoRal @
qd A e—

(A) O (B) 1 (C) 2 (D) 1/2
g f3vg @ 47 (x - 1)2 + y2 = 1 9% Sard =y g
21 99 39 Al & Ay f3wg & fasguer &1
FAHHIOT BIAT—
(A)x2+y2—x=0
Q) x2+y—x=0

(B)=x"—y* +x=0
(D) None of these
RIAT y2 = Ax

T 25[(x - 3)2 + (y + 2)2] = (3x — 4y — 2)2 IEA 2,
qg A F1 AT 28—

(A) 1 (B) 2 (C)3 (D) 6

TP g3 BT dEd (975 (0, 1) W CIRAT & qAT 9%

=x2 @l fa=g (2, 4) WX Uyl ®ear B, @ deD B
fAdens 28—
—-16 53
®) (5°%)

() (3°5)
(C) ( 10 iz) (D) 3% & #HIg AL
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2 2
23.Image of the ellipse )2(—5 + Z_s =1 inthelinex+y=10is—

— 2 _ 2 _ 2 _ 2
(x—10) (y—10) =1 (B) (x—10) (y—10) =1

(A) ===+ +
16 16 25 16
—5)2 _5)2 _£\2 Y

Q) &2 L =92 _ (D) G 4 O=9% _ 4
16 25 25 16

2 2
24.The eccentric angle of a point on the ellipse XZ + y? =1

whose distance from the centre of the ellipse is 2, is—
T 3 5T 71
(A) - (B) = € = (D) —
25.Equation of the hyperbola with eccentricity % and foci at (2,
0) is—
2 a4

X2y _4
B 5-5=3

XZ y2 _
©7-9=1
26.The common tangent to 9x* - 4y2 =36andx* + y2 =3is—
(A)y-2+/3x—+/39 =0 (B)y+2+3x+ V39 =0
(C)y—2 V3x+ v/39=0 (D) None of the above
27.1f Y18 (x; —8) =9 and X18,(x; —8) %2 =45 ,then the
standard deviation of x4,X,,.....,X1g iS—
(A) 4/9 (B)9/4 (C)3/2 (D) None
28.The mean of five observations is 4 and their variance is 5.2.

(D) None of these

If three of them are 1,2,6 then other two are—

(A) 4,7 (8)2,9 (C)5,6 (D)2,10
29.~7(pVQ)V (~p A q)islogically equivalent to—
(A) ~p (B) p (ON: (D) ~q

30.If both p and q are false, then—
(A)pAqistrue (B) pV qis true
(D) p © qis false

31.The first term of an A.P. is 2 and common difference is 4.

(C) p = qis true

The sum of its 40 terms will be —

(A) 3200 (B) 1600
(C) 200 (D) 2800
32.If the sum of n terms of an AP is 2n” + 5n, then its nth term
(A) 4n-3 (B)4n +3
(C)3n+4 (D)3n-4

33.If the roots of the equation (b —c) X+ (c—a)x +(a—b)=0are
equal, then a, b, c will be in-

(A) A.P. (B) G..P
(C) H.P. (D) None
34.If sin 6 = —% and tan 0 = 1, then q lies in which quadrant-
(A) First (B) Second
(C) Third (D) Fourth
35.fA-B =E ,then (1 +tan A) (1 —tan B)=
(A) 1 (B)2
(€)-1 (D) -2
36.(i10 + 1)(i9 + 1) (i8 + 1).......... (i+1) equals-
(A)-1 (B)1 Q)i (D)o

2 2
23, drefqa -+ =1 @1 ufifesa @ x +y = 10

g1T—
—10)2 —10)2 —10)2 —10)2

(A) (x—10) (y—10) -1 (B) (x—10) +(y 10) -1
16 16 25 16
_5)2 _c)2 _£)2 Y

() &= L 097 _ g (D) 882 L 092 _
16 25 25 16
—5)2 _5)2 2 2

24. (D) X+ 020 —qdiefqa S 42 =1 W 1w fag

P IH G HIVT AP SET b ded A g 2
g, 98 8-

T 3 51 7T
(A) (B) & (€)= (D) —

25, STH g dl % el afguraay &1 gMHIvr I fIE)
arfa (+2, 0) B—

2 2 2 2
(A) 42 =2 B -_L=2
4 s o 9 9 o
xz y2_
©-5=1

(D)37H & H1g 78
26. 9x2 - 4y2 = 36 T x2 + y2 = 3 3 3Iwgfass el Twm
g},
(A)y-2v3x—+39=0 (B)y+2+V3x++39 =0
(C)y-2+3x++/39=0 (D) Sudiad # & &Ig 9L
27.3fc 18 (x; —8) =9 a2 Y18 (x;, —8)%2 =45 T9
X1,X9,..0o,Xq g BT AIFG faaes 8-
(A) 4/9 (B)9/4 (c)3/2 (D) ®wI1g &
28. Ui gd1ervil &1 H1EY 4 8 TAT THABT g% 5.2 B |
gfg g4 9@ @19 1,2,6 2 99 &17g 3§ 2—

(A)4,7 (B)2,9 (C)5, 6 (D) 2, 10
29. ~(pV Q) V (~p Aq) T#f T 8-
(A)~p (B)p (Cq (D)~ g

30. Ifg p T11 q FIAT AT 8, T9— pAQIT
(A)pAqaa ® (B)pVgua 2
(CQp=>qua? (D)p & g 2

31. If% ue warax Sofl &1 god g 2 97 Arder=R 4 81, df 40
UGl HT 1T BRI

(A) 3200 (B) 1600 (C) 200 (D) 2800
32. Ife ol 99R 9 & nUSl BT A

22 +5n 2, d gw@T n9l UE 2—

(A) 4n-3 (B)4n +3 (C)3n+4 (D)3n-4

33, @i (b—c) x2 + (c—a) x+ (a—b) = 0 @ @@ & &, a1 a,b,c &
(A)EsL H  (B)TAL A (C)&sr # (D) ®1g =&
34. AT sin = —— A tan O =1, a1 sy =gerfer & & -

vz
(A) 9erF (B) fg<im (C) T (D) =tert
35. af A—B=%,Eﬁ (1 +tan A) (1 —tan B) SRTIR &I -
(A)1 (B) 2 (C)-1 (D) -2
36. (i10 + 1)(i9 + 1) (i8 + 1).......... (i+1) TR 23—
(A)-1 (B) 1 (C)i (D)0
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37.The value of the expression

:592 | :590 | :588 | :586 , :584
lb fug 0+1568+l>56+l>b

582 580 L 578 L :576 L 574
{9824 {580' 41578 4. 4576, 4. 45 is-

(A)o (B)1 (c)-1 (D) -2
38. The difference between the roots of the equation x*=7x-9=0is
(A)7 (B) V85 (€)9 (D) 285

39.1f the sum of the roots of the equation ax” + 4x + ¢ = 0 is half
of their difference, then the value of ac is-
(A) 4 (B) 8 (C) 12 (D)-12
40.If the 4th term in the expansion of (ax + i) mis, % then the

values of a and n are-

(A)1/2,6 (B)1,3 (C)1/2,3 (D) Can not be found
41.what value of m, the roots of the equation x> =x+m =0 are

not real—

W15 0l  B)-0,2[ (0151
42.1f the sum of n terms of an AP is 2n” + 5n, then its nth term

(A) 4n-3 (B)4n+3 (C)3n+4 (D)3n-4
43.There are 13 players of cricket out of which 4 are bowlers. In

(D) None

how many ways a team of eleven be selected from them so

as to include at least two bowlers—

(A) 55 (B) 72 (C)78 (D) None
44. If sin B + cosec 0 = 2 then the value of sin8 6 + cosec8 0 is equal

(A) 2 () 2° () 2* (D) None
45.The quadrilateral formed by the points (a,—b), (0,0), (- a, b)

and (ab, - b%) is—

(A) rectangle (B) parallelogram
(D) None of these

46.1f the vertices of a triangle have integral coordinates, then

(C) square

the triangle is—

(B) Never equilateral

(D) None of these

47.1f (x, 3) and (3, 5) are the extremities of a diameter of a circle

(A) Isosceles
(C) Equilateral

with centre at (2, y). Then the value of x and y are—
(A)x=1,y=4 Byx=4,y=1

(C)x=8,y=2 (D) None of these
48.Solution of =2 > 2 is—
X+3
(A) (-3, =) (B) (—o0, -13)
(C) (-13,-3) (D) none

49.The conjugate of E is equal to—
1 . 1 .
(A)—; (9 +19i) (B) v (9 —19i)
1 . 1 .
(C) = (19i-9) (D) ” (9 + 19i)
50.If 4th term of an AP is 64 and its 54th term is — 61, then its
common difference is —

37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

47.

48.

49.

0502 | 590 , 588  :586 , :584
P2+ 17 %0+

ol h 1752417894 4378 3760, 3274 T A g\p-n_

(A)O (B)1 €)-1 (D) -2
THIB x2 - 7x—9 =0 Hall BT IR 2—

(A) 7 (B) V85 (€)9 (D) 2 /85

I THHROT axZ + 4x +c =0 Hell B AT B AR DI
3T B 1 ac BT AF BN —
(A) 4 (B)8

(C) 12 (D) - 12

afe (ax+%) "% gER F %ﬁ%ﬂq—q'; A, A adAMnD A9
HAL: B—

(A)1/2,6 (B)1,3

(C)1/2,3 DESEEEAEETE

m® b 719 & v THexT x2 x +m =0 oI IRAABD
&l B
(A)]5 o (B)]-o0, ¢

©1—.;0 (D)= &

I ) TR 2 B nuSl &1 A 2n2 +5n R, A1 gHE
neﬁtl’q’%—
(A)4n=3  (B)4n+3 (C)3n +4 (D)3n—4

e fhdbe o9 7 13 RaafSal & 4 4 figars €, 1 876 9 RS
Raenfeat o1 S fPds TPR I 9918 ST Aball & STdfb BH I BH
] garet gi—

(A) 55 (B) 72 ()78 (D) B ==
7Y sin 0 + cosec O = 2 AT sind 0 + cosecd® &1 A BFT-

(A) 2 (B) 28 (024 (D) B &
fa= (a,~b), (0,0), (~a,b) @ (ab,~b2) ¥ T dTeN =TT B

(A) 3T (B) THT=R AgYS

(C) (D) ST ¥ B

It v e @ 0wl & fders quie & a1 B 98 gm-
(A) FHAfgaTg (B) FHaTg

(C) fawmarg (D) ST & ®Ig &

Ife T g & a9 b RN (x, 3) T27(3,5) B TA01 g BT =

(2,y) 8 A x Ty &1 A9 EFT—

(A)x=1,y=4 (B)x=4,y=1
(Cx=8,y=2 (D) 39 # & PIF &
i—:>2zmga%—

(A)(-3,) (B)(-,—-13) (C)(-13,-3) (D)PI$ &
2:—2:: BT TG B—

(A) —i (9 + 19i) (B) i (9 — 19i)

(C)3i4 (19 - 9) (D)3i4(9+19i)

(A) 5/2 (B)-5/2 50. IfX AP 4th ug 64 & T 39®! 54th ug 61 1 3HH WIS
(C) 3/50 (D) -3/50 R B
(1) 5/2 (2)-5/2 (3)3/50 (4)-3/50
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